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a) Determine the mobility of the mechanism shown.

&

b) The mechanism in the figure is shown at the position 8, = 110°. Draw the mechanism when

0, = 60°. Ry, =40 mm, R,; = 50 mm, R, = R, = 30 mm, R, = 25 mm).
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2. Link 2 of the mechanism shown has an angular velocity of 10 rad/s cw. Find the angular velocities
of link 3 and link 6, and the velocities of points B and C. (R,,, =2 in, R,; =7 in, R, = 3.5 in,
R =2 in, R = 2.5 in, Ry = 3 in, and the slider 4 is sliding in the line which is parallel to

0,0, and 1.5 in below)
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3. Find V, for the linkage shown if V, = 6 infs to the right. Also find @, and locate the
instant center of the velocities P, in the figure. (R,, =9 in, R, =4 in, R = 14 in)
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In the mechanism shown, link 2 is having angular velocity of 5 rad/s ccw, and angular acceleration
of 10 rad/s’. The velocity polygon is provided. Find the acceleration of point C and angular

acceleration of link 3.
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5. Link AB is 3 in long and the acceleration vector of points A and B are as shown. Find the
acceleration of point C at the mid-length of the link and determine the angular acceleration of this
link.

- C in/c2
a, 15 1n/s 7

a = 30 in/s?
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